BT HITERE

5 SRR () B0 | REE
f% EBLE SeEliNdih] Ll
N = =7 == (4r88)
F—iE HBRE S 200 200 80 16400
B/
BE T RESL (B SCEEE D) 200 200 80 16400
HEL
S S LC 200 200 80 16400
(L BB R 40 40 - 2800 570,
§ A FEE BT B 40 i i 1400
- HhF - 40 - 1400
ES AR (Y E - - -
2 BB B B 80 80 80 8000
‘g A ELE AR 120 120 i 8400
AR E A 120 120 - 8400
ET 120 120 - 8400
ET 120 120 - 8400
- R P R A 120 120 120 12000
% ETE - - 280 8400 43%
X BER 80 80 - 5600
iy -
B E - - 80 2400
BB E A 1440 1440 800
— 124800
FR R E BN R ]
EEH 26400
BRI E) 8000
\ Y5 40 40 40
HAHE G E)
EEEE 40 40 40

. FEIRR 4075

1
2. BE R R SRR H PR WA R RH FE FIRY SIS SO L LR SR ME B H B R & AR SR O AR BRI R 3%




2 FRIRRARRIZ

o5 RIS (S P TR o
- ELE TE B R Ll
- e =t = (4388)
R B RE S 200 200 80 16400
i X
2R AL (B SCEEE ) 200 200 80 16400
gy
B2 B2 200 200 80 16400
ST
| Ll IYNEN 40 40 2800 .
& (B s A 2 FEh 40 1400
i
3 - 40 1400
Al BHY T 80 80 5600
e B Bl R E 80 80 80 8000
HaRE HARIE 80 80 5600
AN B HEHEEE T BE 80 2800
£ A i T R L B - 80 2800
%
= 4 VNl - 40 1200
Ll B BT 40 1400
it 2R L 80 2800
SkRE - 80 2800
Yy HL e R - 40 1400
HERH
L {a R R R R T 80 2800
B 41%
- R R 03 80 80 5600
il i i A 160 160 240 18400
R R IR AR RE I - 40 1200
8k 2 T H % - 40 1200
HERMTR - 80 2800
[EE - 80 2400
B JE R IR 1440 1440 760
123600
FR R B IR ]
[EE 26400
FRIEEE) 8000
RS 40 40 40
HM B E IEE) -
EEER 40 40 40

5 HETER 40578




BIFREIERTE

. RS (4r88) ) e
£ | . e i
5 ELE VE B R Ll
= [ == (538#)
F—iE B EE S 200 200 80 16400
D%
B8 T RESL (B SCEH D) 160 160 80 13600
L
e B2 200 200 80 16400
| B rn EELN R 40 40 - 2800
ft | & a
5 57%
EPNYR=1 YN il 40 - - 1400
fiE
HhzE - 40 - 1400
AaflBHY EERES 80 80 - 5600
4
£ e B il R HeE 80 80 80 8000
2
N B, §
% HbklH it 7 Fp R 80 80 - 5600
HEEREE 40 40 - 2800
B PR B BIEAE 80 2800
EE I - 80 - 2800
HERH BYEE R 80 - - 2800
H
- EajiasTias-st:i 80 2800 43%
ﬁ? oK P BT #A B = 360 360 400 37200
i
ey --- - 80 2400
I [ G B RE 1440 1440 800
124800
TR ERTE B
EH 26400
BRI B 8000
YES 40 40 40
HAHE EE)
EHER 40 40 40

RF AR By4057 $i




RBEERTRE

n R TE B (4 ) GED bES
28 ) [ Frfd
- ELE TR Ll
= = == (4r88)
B—FEL HIEEE S 200 200 80 16400
1P
B RESC (HjSCEER D) 160 160 80 13600
gy
B B 200 200 80 16400
T
" ;i rn RN R 40 40 - 2800
e - 55%
- fE A ik g AT fE g 40 - - 1400
13
HhFH - 40 - 1400
# B RHE Y B - - - -
%
o e B Hl R HE 80 80 80 8000
2 AR e 80 80 ] 5600
HERGE 40 40 - 2800
AR E A 80 120 120 10600
S T AR 80 200 - 9800
HERH
= B (5 280 120 320 23600
; 45%
- Bl st R EET 40 40 40 4000
0] s e
ke H - - 80 2400
ESAEESE S )lisTih| 1320 1320 880
118800
A P R e
EEE 26400
BRIEIEE) 8000
RS 40 40 40
HAHEEE) -
EEER 40 40 40
2

1. FEIR 4057 8%

2. BRI E SRR H PR A RN R e IR JE 1S SC U L R S ME B H B & AR SR O AR BRI R %




EMEHRERE

5 T RN (5 4) U FEHER P
ﬁ EBLE SElisdh] L
- e - . (4348)
=] [a]— |1 p—
B—FE HREEESC 200 200 80 16400
B
PR RESL (R SCEEE S0 200 200 80 16400
L
e T 200 200 80 16400
?E jli Rl REEYNEN 40 40 2800
~ 57%
= fIEL A it B A S FES 40 1400
3
HhzE 40 1400
S B RH ) ES - - -
B
¥E B B fd R BE 80 80 80 8000
g
HklH EIRRLE 120 120 8400
EREH E A 120 120 80 10800
E ST 120 120 80 10800
AL EIE 120 120 80 10800
HERH
-~ BHEE 120 120 80 10800
% 43%
K HERMTRT 80 80 80 8000
il [EE = 80 2400
[SAEE € AT Ul 1440 1440 800
124800
FEF R B
HEH 26400
FRIRTEE) 8000
TS 40 40 40
HAHE G
EEEE 40 40 40
B

1. FFEIRR R 4077 3 -

2. B R R SR H PR B R RH FE IR SIS UL B R S ME B H BERR AU AR R O AR B R 38 -




e IR AR S AT AT
. TR H TR RS (4 ) B TR ER
25 . et Tt
5 ELE TH B Ll
=i = == (5r8#)
F—iE HB EE S 200 200 80 16400
X
BS T RESL (B CE S0 160 160 80 13600
gy
B2 B2 200 200 80 16400
X | B ARl EYNIEN 40 40 2800
e e il
= 58%
EPNY R =1 NS &5 40 1400
e
Hh 40 1400
2 HRflRHY B 80 80 5600
% = =
o e B Hl R HE 80 80 80 8000
o AR e 80 80 5600
HERGE 40 40 2800
FRF RS 120 240 160 17400
Rk gt e 80 2800
HERH
w5 RS E S 240 200 280 23800
EQ 42%
HERT 80 2800
£
i W B 80 2400
o R R B 1360 1440 840
123200
A R B R
EEE 26400
BRIRIEE) 8000
TS 40 40 40
HAHEEE) --
EEHEEE 40 40 40

it AR 4077 3 -




hEMERE

5 SEAEEEE a0 | RER
5 ELE TREEER Ll
= f= == (5348)
B—FE FREEE 200 200 80 15600
) ) L
B8 RS (U ER IS0 200 200 80 15600
HL
e e 200 200 80 15600
0 m
| anfEHA R 40 40 - 2800
= 50%
& {8 A kB8 ST s 40 - - 1400
it
o - 40 - 1400
Bk E K - - -
o B Bl R BE 80 80 80 7200
HtklH it & LR 80 80 - 5600
& HFEREE 160 160 80 12800
%
= AR E A 80 80 - 5600
B fijREIZRE 120 - 120 6600
TR ERE 80 - - 2800
TR 40 - 40 2200
BEFY AT E - - 40 800
HERH
H P EE - 160 160 8800
2 - 50%
5 eI = - 80 80 4400
ity Rl - 80 80 4400
MEEY - - 160 3200
HERMT 80 - 80 4400
ke E - - 80 1600
I JE B B IR P 1440 1440 1240
122800
FE TR B R
fEEH 26400
ERIRIEE) 7200
IS 40 40 40
HAHE EE)
EHEE 40 40 40
1. R R 4057 8 -
2. B R H B R FE AR - JE S S b BB I ME R H B A SRR R A B S0 5% -




Hik bz 2 T ERAZ

. SRR R (4 48) D) TR ER
%A . et Firf
5 ELE TH B Ll
= [ == (5r8#)
F—iE HB EE S 200 200 80 16400
P
BS T RESL (B CEEE D) 160 160 80 13600
HEL
B B2 200 200 80 16400
A o B 40 20
1t & ISTRE oS SIES/AN - 2800
= 57%
EPNYR=LE NS JRE 51 40 1400
ik
3 40 1400
ARl BHY B 80 80 5600
e B Hl R HE 80 80 80 8000
#H ) §
- HARtE it R 80 80 5600
==
5 T
B HERE 80 80 80 8000
B HINE 80 80 5600
W E B B ZE A -1 80 2800
5 B B A 2 80 2800
HERH TS S 80 2800
=
- JiSUEEY i 80 2800 43%
& BRI ET 80 2800
fii7
JinS U=t 240 160 320 23600
W e B 80 2400
S SR B B A R R 1440 1440 800
124800
R B AR
ke E 26400
ERIRIEE) 8000
A% 40 40 40
HAHEEE) --
FEEER 40 40 40

it IR 4073 8 -




SR REENRERE

1. FFEIRR R 4077 8 -

2. B R R H PR B R RH FE FIRY SIS UL LR S AME B H B R R AR SR O AR BRI R % -

5 BRI (5 4) D e P
f% EBLE TEEEERE Ll
N = [T = (ore)
BH—REL B RE S 200 200 80 16400
=P
PR RS (B a0 200 200 80 16400
P
e R 200 200 80 16400
v | 2
5% [ VAN
I & LN R 40 40 - 2800
= 57%
EPNYin=1:9\*4 A 40 - - 1400
T
Hh B - 40 - 1400
?& IR (3¥2) = RS
£ EEHRHE 7B - - - -
g e B 80 80 80 8000
HklH HARRLE 120 120 - 8400
EEHEHE E A 80 240 240 18400
SRl s 240 240 160 21600
EHERH EEES 160 80 - 8400
=
- FEAE PRI SR A 2 80 - - 2800 43%
ﬁ Bk e - - 80 2400
fil7
(SIEESE ACTE ISR 1440 1440 800
124800
FEER TR B
fEH 26400
ERIEEED 8000
I 40 40 40
HAHE EE) B
EEEE 40 40 40
Eaa




